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Part A: Vocabulary

Dircctions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
‘sentence. Then mark the correct -r.l‘mme on }nuranswr sheet. -

1- Currently 80 percent of drugs are shot down in early clinical trials because they are not
effective or are even ———-——,

I} intense 2} initial 3) toxic 4) prior

2- With such rapid advances in the field of human transplantation, researchers such as myself
are now beginning to consider what some have previously —----—- unthinkable: transplanting
a human brain.
1y deemed 2) pursued 3) perplexed 4) excluded

3- Weather forecasters are a frequently humbled bunch. No matter how far their science
advances, the atmosphere finds ways to ————- prediction,
1y -underlie 2) defy 3) expose 4) strive

4- Many armed groups -—-—-—- mix with the population to aveid identification. Sometimes they
actually use civilians as shields.
1) inherently 2) coincidentally 3) persuasively 4) deliberatelv

5- After receiving a phone call that a bomb had been planted somewhere in the hotel, Police
ordered the -——-—-- of the building.

1) resistance 21 evacuation 3) authority 4} invalidity

6- Cosmologists, however, can make --—--—— ahout the carly universe based on the cosmic
microwave background radiation, which was emitted about 400,000 years after the big bang.
| ) concessions 2) ramifications 3) foundations 4} deductions

7- The fact that there are many earth-like planets in the universe supports the widely held view
that life -==-m—=—- the universe.
|} pervades 2) innovates 3) exemplifies 4} overlaps

8- Centuries before the development of effective cannons, huge artillery pieces were demolishing
castle walls with -=—---- the weight of an upright piano.

1} estimations 2} ensembles 3) barricades 4} projectiles

9- People in their late 90s or older are often healthier and more — - than those 20 vears
younger.
1) civil 2) durahle 3) robust 4) concurrent

10- Ome of the first prominent geologists to raise concern that global warming might
eatastrophic collapse of the Antarctic ice cap was J. H. Mercer.
|y trigger 2) negate 3) exceed 4} replace

A

|Part B: Cloze Test

| Dircctions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
ace. Then mark the correct choice on your answer sheet.

Our hunt for caloric restriction mimetics grew out of our desire to better l.md-.r'-ztunf.l calorie restriction’s
many effects on the body. Scientists first recognized the value of the practice more than 60 years ago,

when they found that rats (11} -————- a low-calorie diet lived longer on average than fn:e—’r-:-cdmg rats
{12} —=———- a reduced incidence of conditions (13) --- What is more, some of the treated animals
survived longer than the oldest-living animals in the control group, {14) - that the maximum life
span (the oldest attainable age), not merely the average life span. increased. Various interventions, such

as infection-fighting drugs, can increase ( | [ — . but enly approaches that slow the body’s rate of
agimg will increase the maximum lifc span.

11- 1) feed 2) they were fed 3) fed 4) feeding

12- 1) to have 2) had 1) in having 4y and had

13- 1) in old age they became increasingly common

2) that become increasingly common in old age

3) becoming common in increasingly old age

4) they beeame in old age increasingly common
14- 1) which means 2) but means 3) it means 4) what it means
15- 1) the average time in survival population 2) a survival population average time

3) a population’s average survival time 4) the survival time in average population



Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sh

PASSAGE L

The productivity of a region's farms is important for many reasons. Aside from providing more
food, increasing the productivity of farms affects the region's prospects for growth and
competitiveness on the agricultural market, income distribution and savings, and labour
migration. An increase in a region's agricultural productivity implies a more efficient
distribution of scarce resources. As farmers adopt new lechniques and differences in
productivity arise, the more productive farmers benefit from an increase in their welfare while
farmers who are not productive enough will exit the market to seek success elsewhere. As a
region's farms become more productive, its comparative advantage in agricultural products
increases, which means that it can produce these products at a lower opportunity cost than can
other regions, Therefore, the region becomes more competitive on the world market, which
means that it can attract more consumers since they are able to buy more of the products
offered for the same amount of money. Increases in agricultural productivity lead also to
agricultural growth and can help to alleviate poverty in poor and developing countries, where
agriculture often employs the greatest portion of the population. As farms become more
productive, the wages earned by those who work in agriculture increase. Al the same time,
food prices decrease and food supplies become more stable. Labourers therefore have more
money to spend on food as well as other products. This also leads to agricultural growth.
People see that there is 4 greater opportunity earn their living by farming and are attracted to
agriculture either as owners of farms themselves or as labourers. However, it is not only the
people employed in agriculture who benefit from increases in agricultural productivity. Those
employed in other sectors also enjoy lower food prices and a more stable food supply. Their
wages may also increase.

16. The passage mentions that....ue

1. there is a better comparative advantage in agricultural products in poor rural areas

. a5 a result of better agricultural productivily, a rise in wages also occurs

. agricultural market and income distribution have a reverse relationship

. a region's agricultural productivity depends on extensive use of its scarce resources

[ ]

Fu 1l

17. The passage implies that better agricultural productivity............
1. results in a larger agricultural workforce

2. is more beneficial to traders than farmers

3. forces many local traders out of business

4, increases the number state-owned farms

18. The passage points to the fact that agricultural competition in the world markets can
be developed 0n...iiiiiisan

1. better education for all farmers

2. cheap and hardworking labour force

3. complex marketing strategies

4. production at lower opportunity costs
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19. We may understand from the passage that higher agricultural productivity..oc....
1. has a negative effect on less ferlile arcas

2. will make essential the use of machinery

3. can lead to the unemployment of some farmers

4. works best in ‘industrial farms’ near wwns

20. The hest title for the passage iS...oumeen
1. *Importance of agricultural productivity’

2. "How to achieve agricultural productivity”

3. *Agricultural productivity and farm labourers”
4. “Efficiency in agricultural productivity®

PASSAGE 2

Cereal production more than doubled in develaping nations between the vears 1961-1985.
Yields of rice, maize, and wheat increased steadily during that period. The production increases
can be attributed roughly equally to irrigation, fertilizer, and seed development, at least in the
case of Asian rice. While agricultural output increased as a result of the Green Revolution, the
energy input to produce a crop has increased faster, so that the ratio of crops produced to
energy input has decreased over time. Green Revolution techniques also heavily rely on
chemical fertilizers, pesticides and herbicides, some of which must be developed from fossil
fuels, making agriculture increasingly reliant on petroleum products. Propenents of the Peak
il theory fear that a future decline in oil and pas production would lead to a decling in food
production or even a Malthusian catastrophe. The effects of the Green Revolution on global
tood security are difficult 1o assess because of the complexities involved in food systems. The
world population has grown by about four billion since the beginning of the Green Revolution
and many believe that, without the Revolution, there would have been greater famine and
malnutrition. India saw annual wheat production rise from 10 million tons in the 1960s 1o
73 million in 2006. The average persen in the developing world consumes roughly 25% more
calories per day now than before the Green Revolution. Between 1950 and 1984, as the Green
Revolution transformed agriculture around the globe, world grain production increased by over
250%. "There are also claims that the Green Revolution has decreased food security for a large
number of people. One claim involves the shift of subsistence-oriented cropland to cropland
oriented towards produetion of grain for export or animal feed.

21. The passage points to the fact that...................

I, agricultural output hardly matches the energy input to produce crops

2. wheat is the most commonly used cereals in the developing world

3. Asian rice seed quality did not use to be as good as is today

4. developing nations produced more cereal than developed nations in the 60s

22. 1t is stated in the passage that...........ccu.

l. adechne in oil and gas production has led to a decline in food production

2. the Green Revolution is still dependent on fossil fuels for some of its technigues
3. there are fewer crops produced relative to energy input in developing nations

4. agriculture’s rcliance on petroleum prevents it from becoming efficient






